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1If (545 fjf": 32> (x +i.y), Where x & y are real

2

then the ordered pair (X, y) is given by :-
afy (5+5 f,f”: =32 (x +i.y), ST&l X 9 y aKIdP T,
ad HAa g (X, y) B :-
(1)(0,3) (2)(-3,0) (3)(1/2v3 /2) (4) (O, -3)
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2 . The value of  S:.msin(25) - icoshy :-

E%P:llﬂiﬂ(:l—l]— fcns{%r_‘]]: ARG % s
£ (2)0 (3)-i (4)
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3. If the area of the triangle on the complex plane
formed by complex numbers z, wz and z + wz is
4./3 square units, then |z]| is :-
Jfe I do Al 9=l z, wz dm z + wz gRT ifHa
BST &1 &3%el 43 9 §hbls ©, T9 |z| Bl A BRI :-
(1) 4 (2) 2 (3) 6 (4) 3
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4.1f |z+ 4/5]| =2, then the maximum value of |z]is :-
gfe |z+4/5|=2,d9 |z| &1 3ifHaq 99 T :-
(1) v5 (2)1+5 (3)1-v5  (4) None of these
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5. If z; and z, are two complex number such that

|z,| =lz,|+|z, - 2,] , then arg.(z,) — arg.(z,) = ...........

I z, 9z, &1 A G 39 UHR © (&
[, 1= |28 | Sl B (T roRiE )BT () = B
(1) O (2) /2 (3) — /2 (4)None of these
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"o 6. The value (1+w). (1+w?).(1+w3).(1+wH).

ML N SRS (1 + w3"), Where w is an

—

imaginary cube root of unity is :-

(1+w). (1+w?).(2+w3). (1+w?).(1+w>).
............... (1 + w3"), ST8f W Shlg BT BIUTd
g9 T, BT qH @ :-

(1)23" (2) 22" (3) 2"  (4)None of these
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7.1f z; and z, are nth roots of unity, then arg.(z,/z,)
is a multiple of :-
gfd z, a2z, gblg & nd oI &, d9 arg.(z,/z,) BT Uh

TS © -
(1) nmt (2)3nt/n  (3)2n/n  (4) None of these
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ﬁz +x+ 1 =0, then the value of :-
(X+1/%)2+ (X2 +1/ x2)2+ (X3 +1/ X3)2 +eeeeeeeiiiiiiieeeee, +

X 8 ey B OB

IJfe x2+x+1=0,T9 99 BT :-
IxFEO2 £ 0TI 2 T CHE/ 2. .00 N +
YA Y A —

(1) 27 (2) 72 (3) 45 (4) 54
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9. If wis an imaginary cube root of unity, then

(1+w—w?)’ equals :-

Ife W gdhTs BT U Dlcd-id g-¥qel =,dd (1 +w —w?)’
IR B :-
(1) 128w (2) -128w  (3) 128w? (4) -128w?
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10. If a is an nth root of unity, then

(1+2a+3a+.......... + n.a"?!) equals :-
If¢ L SHIE BT n df 7o T, d9 :-
(1+2a+3a%+.......... +n.a™1l) |WER T :-
(1) /(1-a) (2) -1/(1-a)

(3) -it/(1-a)? (4) None of these
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11. If i = v-1., then
4 +5(1-3i/2)33* +3(1-43 i/2)3® is equal to :-
giej=v-1.,d9
4+5(1-+3i/2)33% +3(1-v3i/2)%%° «_&R B :-
(1)1-iv3 (2)-1+iy3  (3)V3i (4)-iv3
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' 12.1f —1+/-3 =r.e®, then B is equal to :-
I —1+—3 =ref, T9O R & :-
(1) 2m/3  (2) -2m/3 (3) /3 (4) -1t/3
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13. If z is a complex number, then (z+3) (z:+ 3) is
equal to :-
Ife z T ATy G 8¢ a9 (z+3) (2 + 3) R © -
(1) (z+3)> (2) [z+3]* (3)]z+3i] * (4)]z-3]
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14. If 1, w, w? are cube root of unity, then the value
of (1+w)3 — (1+w?)3 is :-
fc 1, w, W2 S&HIE & 999d © , a4
(1+w)3 — (1+w?2)3 &1 919 B :-
(1) 2w (2) 2 (3) -2 (4) O
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15. If x + 1/x = 2cos (1t/10), then x> +1/x° is equal to :-
afe x+1/x =2cos (1t/10) ,TEX> + 1/x° SR B :-
T .Y X LT P
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16. If (a, + ib;) (a, + ib,) = A + iB, than
tant (B/A) equals :-
afe (a, +ib,) (a, + ib,) = A+ iB,dd
tan}(B/A) sRTsR B :-
(1) tan't (a,b,/a,b,) (2) tan'*(a,a,/bb,)
(3) tan'}(b,/a,) + tan’(b,/a,)
(4) tan'}(a,/b,) + tan(a,/b,)
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17. Let z, & z, are two complex number, such that
z,+i =0 and arg(z z,) =m/3, then
arg (z; ) equals :-

*  HMI z, 92, T AN GV 39 UBR & (B
z,+i:2=079 arg(z z,)=n/3,dd
arg (Z1) RT&R B -
(1) /3 (2) /2  (3)5m/12 (4) 5m/6




SHIVALII< NEET/AIIMS/IIT-JEE FOUNDATION, BEHROR/
—

+18.1fzis a complex number with unit molecule &
O argument, then arg(1+z/1+z:) equals :-

IS z gbls AMUIDG d O B Bl Udh ARYY IE=T B,

d9 arg(l+z/1+ Z:) SRR B -

(1) 6 (2)m-06 (3)-6 (4) /2 -0
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19. If =1 and z # 1, then maximum value of
|larg(1/1-z)]| is:-
gfe=13iRzz1,d9 |arg(l/1-z)| &7 arfrmas a9 B:-
(1) Tt (2) /2 (3) /3 (4) /6
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20. If a and B are roots of equation x>—x+1=0 ,
then a?099 + B2999 equals :-
I ada BT X2 —x+1=0% o 8, 9
(12009 + [32009 ERIEES % .
(1) 2 (2) -2 (3)—-1 (4) 1



